Formule goniometriche

goniometria
addizione e sottrazione
tga +tgp
+8) = : + : tgla+p) = —————
sen(a + B) = sena - cosf + cosa - senf gla+pB) 1T tga - tgp
_ ctga - ctgB + 1
cos(a + B) = cosa - cosp F sena - senfs ctgla £ B) = cgtgﬂ igc[zga
duplicazione
2a =2 tg20q = 9%
sen2a = 2sena - cosa gla=_— to7a
5 5 5 cos2a = 1 — 2sen’a ctg?a —1
cosZa = cos“a — sen“a 0524 = 2c05%q — 1 ctg2a = W
triplicazione
3tga — tg3a
sen3a = 3sena — 4sen3a tg3a = ———
g« 1 - 3tg%a
5 ctg3a — 3ctga
cos3a = 4cos’a — 3cosa ctg3a =
3ctg?a —1
bisezione
a__I_ 1 —cosa " a_+ 1-cosa  sena  1—cosa
seng == 2 97=% [ T¥cosa 1+cosa  sena
a__I_ 1+ cosa . a_+ 1+cosa_ sena _1+cosa
oS5 =% 2 9= E 1T cosa 1—cosa  sena
parametriche o razionali (t = tg%)
_ 2t ; _ 2t
N T e
_1-¢? fo = 1-—t?
cosa =T ctga = —
prostaferesi
_ p+q p—q _ p—q p+q
senp +senq = 2 sen * COS senp —senq = 2 sen * COS
2 2 2 2
p+q p—q pP—q
cosp +cosq=2cos > * COS > cosp —cosq=—2sen .S —
Werner
1 1
sena - cosf = 2 [sen(a + B) + sen(a — B)] senf - cosa = 2 [sen(a + B) — sen(a — B)]
1 1
cosa - cosff = o [cos(a + B) + cos(a — B)] sena - senf} = —3 [cos(a + B) — cos(a — B)]
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